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INSTRUCTIONS:

This question paper contains 41 questions.

First 32 questions (1 to 32) are single correct answer type. Each question carries 2 marks.
Next 9 questions (33 to 41) are more than one correct answer type. Each question carries 4 marks.
Marks are non deducted for wrong answers. (No negative marks).

You have not allowed to use a calculator or any other electronic devices in the examination hall.
Read the instructions given in the answer sheet (OMR sheet) before answering the questions.

The answer sheet should be returned to the invigilator before leaving the examination hall
(You can retain the question paper with you).
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Results will be available at : www.simsolympiads.org

SINGLE CORRECT ANSWERTYPE: 32x2=64

1.  Thearea of one side of a rectangular box is 126 cm® The area of another side of the rectangular box
is 153 cm?. The area of the top of the rectangular box is 238 cm?. Then the volume of the box is

1) 2140 cm? 2) 2142 cm? 3) 2145 cm? 4) None of these
2. The diagonals of square PQRS intersect at O. Triangle SOR has area 16 sq.units. The length of
PQ is
Q R
P S
1) 2 units 2) 8 units 3) 6 units 4) 12 units
3. LetA=2015201520152015 % 20162016 and B = 2016 x 20152015, the value of % is
1) 1000100010001  2) 1001001001 3) 101010101 4) 100000001
4.  Evaluate the value of a in the following. 1 _16
1 1 23
g
2+
a+—
1)2 2)3 3)4 4)1
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10.

11.

12.

13.

1) 7/9 2) 5/6 3) 1/2 4) None of these
20— {(4+7-8)—14+2} isequalto
1) 22 2) 26 3) 24 4) 28

There are 180 apples in a basket, 40% of them are red and the rest are green. 25% of the
green apples are bad in quality. How many green apples are not bad in quality?

1) 51 2) 72 3) 81 4) 92
If 45% of x + 30% of 90 = 30% of 210, then what 1s the value x ?
1) 36 2) 48 3) 72 4) 80
NI b\ NGETS
(pT) x {pc4 ] X {pa4 ] 1s equal to
p p Y
1)1 2)2 3)3 4)4

In the figure, CD || EF, which of the following options gives the correct values of x and y?

vH

1)x=40°y=140° 2)x=140°y=40° 3)x=50°y=140° 4)x=140°y=120°

X 7
if G2 x(2)" L, then the value of x is
3x 4° 12

1)3 2) -3 3)2 4) -4

The perimeter of a triangle is 8p* — 9p + 9 and two of its sides are 2p? — 3p + 1 and 5p* —p + 4.

Then, third side of the triangle is
1)2p*—6p+5 2)p*-5p+4 3)3p>—2p+1 4)4p*+3p+6

A playground in a town is in the form of a kite. The perimeter of playground is 106 m. If one of

its sides is 23 m, then the length of other side is
1) 60 m 2)30m 3)23m 4)46 m

SIMO: 2016 -17
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14.

15.

16.

17.

18.

19.

ab ()OO
900 C

In the above figure, ifa : b=2: 3, then Zc is equal to

1) 54° 2) 126° 3) 36° 4) 144°
In the given figure, if PQ L PS, PQ|| SR, ZSQR =38° and ZQRT = 75°, then the value of [x—y| is
PO 7 Q
8
y
75°
S R T
1) 47° 2) 16° 3) -16° 4) 75°
The HCF 0f 0.1, 0.01 and 0.001 1s
1) 0.1 2) 0.01 3) 0.001 4) 10

A C E

HRI35° I
G Y| Inthe figure, AB || CD || EF, then the value of |[HGI is
B D F
1) 175° 2) 85° 3) 95° 4) None of these

The bargraph shown below represents the number of blocks each of 10 students walks to school
each day.

iintinrsiiliig

PO Q& L@ & O LR
& F X F N F W F S S
& T I T

S—NWhULO

Number of Blocks

Students
Based on the graph what is the medium number of blocks that these students walk to school
each day.

1)3.5 2)4 3)5 4) 4.5
1 a—1 .
If a =—, then the value of {—(——]} 18
5 a
4 4 1 1
1) — 2) —— - 4) ——
) 2 )3 3 -1 )3
4
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20. If10mx 10" x 10° = 10°, then the average of m, n and p is
1o 2)1 3)3 4)2
21. TItis given that /4761 = 69, then the value of /4761 +/47.61 +/0.4761 1s
1) 77 2) 75.59 3) 76.59 4) 70.59
22. Inthe given figure, find the value of ZEOD.
A B
6x
5x X
F 0 C
E D
1) 15° 2) 70° 3) 45° 4) 90°
23. Inthe given figure, if AB || CD, ZAPQ =50° and Z/PRD = 127°, then the value of (x +y) is
A P B
50° y
« 127°
C Q R D
1) 137° 2) 127° 3) 53° 4) 27°
A
24. > B Which is the longest side of the given triangle ?
COna50
1)AB 2)AC 3)BC 4) Can’t say
25. Inthe given figure, the value of x to form a triangle is
A
3 6
B - C
1) xe real number 2)xe [3, 6] 3)x <6 4)3<x<9
26. Teja walked 20 kms to the South, then turned right and walked 10 kms. She then turned North

and walked 35 kms. She again turned right and walked 10 kms. How far is she from her house ?
1) 15 kms 2) 10 kms 3) 25 kms 4) 20 kms
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27. Inarow of cadets(NCC), Ramana is standing at 13" position from back, and Sarath is standing
at 7™ position from front. If Ramana and Sarath, interchanges their position, Sarath becomes
12" from front. How many cadets are their in the row ?
1) 25 2) 21 3) 26 4) 24
28. When 16 is added to 80 % of a number, it gives the number itself. Find the number.
1) 80 2) 96 3) 64 4) 8
29. What should be subtracted from (-2x* + 5x> — x + 8) to get 5x* —4x + 12?
1)2x*+3x—4 2)-2x'-3x+4 3)-2x*+3x—4 4)2x*-3x +4
30. Three times an angle is equal to two times its complement. What is the value of angle ?
1) 180° 2) 120° 3) 36° 4) 30°
31. Ifaxb= ab , then L + P 1 +...—;:
a+b 12 2%3 3%4 45 20002001
1 2001 2 2000
b 2 2 2000 3) 2001 4 2001
32. There are two boxes of chocolates, x and y. The ratio of weight of x to weight ofyis 4 : 1.
If 39 of chocolate is transferred from x to y, then the ratio of weight of x to weight of yis 7 : 5.
Find the total weight of the two boxes of chocolates.
1) 36 2) 144 3) 180 4) 72
MORE THAN ONE CORRECT ANSWER TYPE: 9x4=36
33. Find interest and amount when Principal =% 200, Rate = 12% p.a., Time = 6 months.
1) A=X220 2)I=X% 12 3)I=X15 4)A=%212
34. The age of Nishant and Sanjay are in the ratio 4 : 5. Ten years hence the ratio of their ages will
be 6 : 7. Find their present ages.
1) 13 yrs. 2) 25 yrs. 3) 20 yrs. 4) 22 yrs.
35. Inthe given figure, if BC is parallel to EF and DC = DB = DA = DF, then
1) ZADE = 54° 2) ZCDF = 126° 3) ZEDF = 54° 4) Z/ADB = 54°
36. From the given figure, find the values of Za, Z/b and Zc.

B

1)a=65° 2)b = 55° 3) c=55° 4)a=70°
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37. Inany triangle, the sum of the measures of the angles is 180°. In AABC, if ZA is three times as
large as /B, ZC measures 20° less than ZB, then

1) /B =30° 2) /B =40° 3) LA =120° 4) LC=20°

38. If (2)7 7 =(8)"' =(16)"", then

1)x=49 2yx="77 3)x+y=92 4)x +y=282
39. Ifa+b=11and ab= 30, then the value of (a —b) is
1)1 2) -1 3) -2 4) 2

40. ABCD isaparallelogram in which ZA =78°. Then the measure of

D2/A-/B=54  2) /g=102 3) LDCB-3ZABC=2T &) /oL C=156
L
1)7]
41. If {(7] } =7 , then
)3m+1=0 2)3m-1=0 3) 9m?-1=0 4) om® +1=2

& % o Al The Best + <« <=



